LOSUNG zu bsp-7163-3/LGXE

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 7163

Aufgabe 1

Berechne.

Aufgabe 2
Berechne.

a) 13-7=091

e) 11-9 = 99
i)16-4 =064
Aufgabe 3
Berechne.

a) 15 - 47 = 705
d) 1710 = 170
g) 13 - 25 = 325
j) 17 - 31 = 527
Aufgabe 4
Berechne.

a) 38 - 38 = 1444
d) 37 - 68 = 2516
¢) 28 - 77 = 2156
j) 14 - 32 = 448

Viel Erfolg!

www.dw-aufgaben.de

b) 16 - 36 = 576
¢) 14 - 12 = 168
h) 15 - 42 = 630

b) 37 - 12 = 444

¢) 34 - 41 = 1394

B) 10 - 69 = 690

Seite 1

£) 32 - 64 = 2048

i) 40 - 84 = 3360
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2=12  4)6-7=42

h)9-8 =72
.8=96  d)11-6=66
5=90  n)16-8=128
¢) 11 - 46 = 506
£) 14 - 30 = 420
) 18- 34 = 612
¢) 40 - 38 = 1520
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